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The English are fond of soggy French fries (“chips") wrapped in old newspaper and generously drenched in
vinegar, which is a 0.83 M solution of acetic acid. If the acetic acid in vinegar is 0.47% dissociated,
calculate K, for this acid.

Describe what is meant by the "leveling effect". Use a real acid as an example, and write an appropriate
equation.

Consider the reaction;
BF; + F — BFEs

Can this ever be considered to be an acid-base reaction? Support your answer with appropriate arguments.

Formic acid, which is a component of insect venom, has a K, = 1.8 x 10*, What is the [H30"] in a solution
that 1s initially 0.10 M formic acid, HCOOH?

Picric acid has been used in the leather industry and in etching copper. However, its laboratory use has been
restricted because it dehydrates on standing and can become shock sensitive. It has an acid dissociation
constant of 0.42. What is the [H30"] for a 0.20 M solution of picric acid?

What is the pH of a 0.050 M triethylamine, (C;Hs)3N, solution?
K for triethylamine is 5.3 x 10™,



=7 Feall 005
s Ble-=-S T2~
] / + -
L= [OA) Fy0 + HOA = /9 7+ OA
IR op7 R AR
E o) 1= 0.87-x X X
= 50250]) N
2= X = 0. 0047 x 0.93=0,00370|
‘T .93 -C.00290]|
- - S
4 T >y X /O
~ — 3 B | s ‘//' ._'\
=2 - ; L /»'ij\o ;/ f-f'_g_ I -+ g/é /
| I o~ Fhe S trevg .7 Qu‘ﬂ 71'%1\71— (A Cxis7™
Lo et —+te S Trovg }L . L ‘ éﬁt
- J .-»tj : er owg el ~ G(-@ /.J )
S ..f—r; ’J\J' 6*4“«!/(._ \IL ¢ _£ ‘)
D - o % -
e j /:/3 ¥ /' — /EJ ; 7

. | l B
IF | o
o g =B
=_g v i3 [T
J— \./\ . k /o s Y \\ i !‘;’
[:" (‘ \\ ) ):_,__, } [/;

13 A’iff




L
T
e

C

&

X

-+
T o
41
%
~
\ &:‘:q._
C
~
o
)
2
o
o
i

= ) » 4
J‘ - & / -E'-‘\ a8 e
, Y 73 P i
— ¥ ﬁ;if ( ‘:—)“")’i-“ilr‘
F b ‘
o m‘: i - . "f.“,..’__,
— . ~— e P 3
" { ot e A
he; 4
7 - v o7

[0 ] pre
LHpied
N
0.20 —x

Tpis + H0 = Ho' + pre /{) =
I 0O.a0 MA 0 o

C — X + K K

- : 0.42 =

) AL T X ~ :(

M s F (g 2“"‘3{& @-g

0.059 =~ 0.42 x = X*

X7+ 0.92% —0.09y = O

X = C"{?};}* £ 1 w2t -y ) 'O'Ogif)

e e s



~2iTg N2+ FH. oo ~> [~
% 5 & fiy L2 ] {4
7 s L et oL
= i g

S3x )6 |



